x= | Multi-Step Name:

")
Evan had $47. Then he saved $4
from his allowance and spent $3
on a comic book and $6 on a
puzzle. How much money does
Evan have left?

%]

Alexander has 4 red beads, and he has
3 fewer yellow beads than red beads.
Alexander also has 10 more green
beads than red beads. How many
beads does Alexander have in all?

beads

@
Julia needs 54 paper plates for a
birthday party. She already has 2
blue plates and 27 red plates.
How many more plates should
Julia buy?

plates

Q% M°‘|'h Gomes Get more worksheets at http://www.mathgames.com/worksheets CC.7.133

Play online at http://www.mathgames.com/skill/7.133
TeachMe, Inc. ©2025 All rights reserved. y p:// g Jskill/

Page 10of4



x= | Multi-Step Name:

M

In Evan's toy bin there are 5 red
blocks. There are 4 more yellow
blocks than red blocks. There are also
26 more blue blocks than red blocks.
How many blocks are there in all?

blocks

|fJ
Choose the best answer

Isabelle had 64 stickers. She then bought 3 stickers
from a store in the mall and got 27 stickers for her
birthday. Then Isabelle gave 28 of the stickers to her
sister and used 17 to decorate a greeting card. How
many stickers does Isabelle have left?

36 49

38 53

@
Choose the best answer

Ryan needs 20 paper plates for a
birthday party. He already has 2 blue
plates and 17 red plates. How many
more plates should Ryan buy?
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|ﬂJ
Choose the best answer

In Addison's toy bin there are 11 red blocks. There
are 12 more yellow blocks than red blocks. There are
also 22 more blue blocks than red blocks. How many

blocks are there in all?

48 69

67 57

|ﬁJ
Choose the best answer

Sarah's mom gave her $68 to go shopping.
She bought a sweater for $23, a T-shirt for $20
,and a pair of shoes for $2. How much money

does Sarah have left?

27 23

20 17

@
Mia wants to buy a dictionary that
costs $24, a dinosaur book that costs
$27, and a children's cookbook that
costs $1. She has saved $19 from his
allowance. How much more money
does Mia need to buy all three books?

$
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#10

Choose the best answer

Noah had 63 stickers. He then bought 2 stickers from
a store in the mall and got 29 stickers for his birthday.
Then Noah gave 27 of the stickers to his sister and
used 28 to decorate a greeting card. How many
stickers does Noah have left?

37 51

50 39

#11

Choose the best answer

Joseph needs 78 paper plates for a
birthday party. He already has 27 blue
plates and 21 red plates. How many
more plates should Joseph buy?

30 31

21 39

#12

Choose the best answer

Landon needs 66 paper plates for a
birthday party. He already has 11 blue
plates and 27 red plates. How many
more plates should Landon buy?

23 37

25 28
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x=2 | Multi-Step Answer Key
Question Answer
#1 42
#2 19
#3 25
#4 45
#5 49
#6 1
#7 67
#8 23
#9 33
#10 39
#11 30
#12 28
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